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PV = nRT :ﬂRT
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2
My 66, Mg 66
A C:H:0=2:4:1
1MA :

12x 2+1x 4+16=44
A C,H,0

Mg=66x 2-44=88
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© | 10 5 0.1 5 0.1 10
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; C.B
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_ 0.5 )
__- 0.5 )
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AI(OH), + OH" = AlO; +2H,0 (1 )
( Al +40H = AI(OH), AI* +40H" =AIO, +2H,0 )
*r%ﬂ:?ﬂ
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500x 1.02x 2.00%x 250

160

=159( ) 4 .




@) :
102 1000

—x —— =0.128(M)
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10.00
Na,SO,% = 0902, 100% = 9.02% a )
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1 [A9(S203) 1% 0.5 )
:Agt 0.5 )
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4.
).

(A)CO% (B)CI
(D)AIO, (E)HCO,
5.100 0.6MHCI 0.4MNaOH
(A)pH=2 (B)pH=0.2
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CH ,COOH +C H,~ Por P2

CH,=CH,  HOH C,Hs0H, Cg3CHO
] 189 180 ]
( 12 )
1. 100 N, X NHs,
N, +3H,=  2NH,
100-x 300-3x  2x
2 = 25%
100- x+ 300- 3x +2x
x=40( )2 )

2. 2 FeSO, FesS0,0.50
Cuso, Fe , 0.50 ,
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pH
(A)2 (B)2.7 (©)3
(D)3.3 (E)11.3
8.
)
Q) C)
© D)
®
9.
(A)HCI HBIr (B)Ag* H+
©1, (0)Ca
(EDN;
10. ,
Q) ®
© D)
®
11. , 5 1
Q) ® ©
®) ®)
12. 5 , 2-
(4)CH ,CH= CCH,CH, (B)CH3(|3= CHCH,CH,
éHg CH,
(C)CH, = (lj(CH2)2CH3 (OICH CH= GHI:le'::H3
CH, CH,
(EICH, = CHCHZ?HCHS
CH,
13.
Q)
B
©
)

B



14.

Q) , . ,
®) —
1965
© ,
®)
®
15.
CH,—CH,— t|3H2 CH,—CH,—CH,
CH,—CH,— CH—CH,— (le—CH—CH —CH,
CH,—CH,—CH,—CH,—CH—CH,—CH,—CH,
(A8 (B)9 (©10
(D)11 (E)12
16.
M1 (B)2 (©3
(D)4 (BE)5
17.
« /7 ) 3.0 1.00
2 /) 1.8 0.6 0.8
(A)0.2 7/ (8)0.4 7/
(©)0.6 7/ (D)0.8 7/
(BE)1.2 /
18. , ,
» ® ©
) ®)
19.
(A)K* Al NO; AIO;
(B)Cu®™ AI* CI” NO;
(C)Ca* Fe* S0 Mg*
(D)Mg* H* ClI° NO;
(E)Na* K* COZ SO%
20. AB,
(A3 9 (B)6 8 (©10 14
o7 12 (E)13 17
21.a b c



,a b a
(A)a<b<c (B)b<c<a (C)b<a<c
(D)c<a<b ()
22.
Q) ®
© D)
®
23. A
(A) +2 |®)
© ®)
®
24. ’
Q) (B) ©
) (E)
25. ,
’ 64 ’
(A)108 (B)54 (C)216
(D)64 (E)
26. N ; 0.2MBa(N03),
M1 0.6N,
;)1 0.2N, NOj;
(C)500 BaZ+ 0.2M
(D)500 NO; 0.2M
(E)500 0.2N; NOj;
27. mA( )+nB( )=—pC( )
A
(A)m+n>p (B)m+n<p (Cm=p
(D)m>p (E)m<p
28. (CS,) Co, S0,.
CS, 448 ( )
(A)112 (B)224 (C)336
(D)448 (E)201.6
29. ,
(A) A1 (OH)4+3H*=AlI3++3H,0
(B) Fe3*+Cu=Fe2++Cu2*
© 21-+Bry=1,+2Br-

b c

0.228



®)

®
30.
3 8
(A) 8 (B)§
3 2
() > (B) 3
31.
,90,  SO3
(A)1:1 (B)2:3
(D)5:6 (E)5:4
32.0.1
(AP (B)Mg
(DA (E)Fe
33.V Fe®*
56m 3m
(A) ~ M (B)@ M
m 3m
(®) Y] M (E)M M
34. 0.44
20 6.50M
(A)18% (B)46%
(D) 73% (E)36%
35. A 15%
1
(A) >
3
(© EZ/\
©® 15%
( 14 )
1.
2.
Q) ®) ©
Q) ©) Q)

HCOOH+0H-=HCO0-+H,0
Na+2H,0=Na*+20H-+H, 1

(C)3

S0,, S0,

(D)6:5
7.1
(C)Na

m

m
(C)@ M

(C)53%

30%,

®)
M

()

E?QUER AT BT SEATE SN

(1) Ca(OH),

CaCo,



(2)  Fe(0H), cl-

©)
4)
Q)
(6)
: : (@) » ()
T AR AL R S0 B SRR S ESEHENE R

oEn | INT | =R Felt | J8 | S00% | B R
& (D
= (4D
()
(A (®) © )
® G ©)
()
(@) -
(b) 70—80
(©) HCI (150—160 ).
)
O
Q)

@ HNO3 H,S0,

[ = i | c
==K
— T
T 27-1

(€H) a . b

&) c

®3) , d AgNO,

4) , a

®) a

11 )
A B C , 3:5:7. 7 A

5 B 3 C , 5.36 , 0.15



HCI ) A B C ?
2. D, CHO 1 D, 4
i D D
E.0.37 E 0.20M 25.0
D E
( 10 , )
1. CoCl, Co(OH), )
’ [CO(NH3)6]2+' ’
CoCl;- 5NH, CoClg- 5NHg
, AgCl s 1
CoCl5- 5NH, 2 AgCl.
Co .
2.1.00M 1.00M 10.0 ) A.
A 45.0 , B. A B
?( K=1.8x 10-5)
1987
( 30 )
1. ( 05 , 1)
34H, BN, CH,S DClL
EHC! FNH; GSO, HNO (HZE 054 3L 449
4 Hy, o X0, (143
501 1 BE 1gdea
6. «( 1, 2)
7.
A O 1522:22pF35%p
_)'.)'.)'
(DED,:[C] M [0 @ AlOH), HNa0H=NadlO, +2H0
3Mg+N, Mg:N ., ( 1, 5)
8.MnO, +4HCI_Cl,t +MnCl, +2H,0
2KMnO, +16HCI = 2KCl + 2MnCl,, +5Cl,+ +8H,0
CuCl
4HCl+ 0, =2Cl, +2H,0
-1 0
KMnO, > MnO, > 0, ( 1 , 5 )
9.38 @ )



10.108
11.

@ )

[10]BCIO, + [3]B, + [18]H.0 =[10]HCI+ [12]H:PO,
[3 Jcu,s+[18Jmi0, =6 ] Cu@io,),+ [4 |wot+[3]s + [8]H,0

(- -FiEden, fan)

( 4 )
1.(0) 2.(A) 3.(A C) 4.(0 E) 5.(A E)
6.(C D) 7.(C) 8.(A E) 9.(B E) 10.(A E)
11.(E) 12.(A) 13.(B) 14.(A E) 15.(D)
16.(C) 17.(8) 18.(D) 19.(A C)  20.(B)
21.(D) 22.(C) 23.(0) 24. (E) 25.(C)
26.(B D) 27.(E) 28.(D) 29.(B E)  30.(D)
31.(D) 32.(B) 33.(F) 34.(E) 35.(B C)
1—25 1 25 ;26—35 2 , 20 (
)
( 14 )
1.()C+H,0( )—CO+H, (05 )
CO+H,0( )——CO, +H, (05 )
(2N, + 3H,———=2NH, (1)
(3)4NH , +50, 4NO +6H,0 (1)
(4)2N0+0,=2N0, 0.5 )
3NO,+H,0=2HNO5+NO 0.5 )
(5)NH3+HN03:NH4NO3 (1 )
1) C+2H,0——CO, +2H, 1 .
() 4NO,+0,+2H,0=4HNO, 0.5
2.(1)C (2)F -(3)| (DA (B)E (BH ( 0.5 3 )
3.
et | NI | =R=h| 6l | 28 | S0F |l
| ()| E D B C G C
E|I ()| g a b e C d
( 0.5 3 )
4.
(2)HBr
3) AgBr

“4)_



(5)C,H, +Br, %85® C H.Br + HBr ( 05, 3

> 4 o) ., FeBry
(¢ 1)
1. 1] A B C My My M.
My zMpzM=3:5:27
*M;=0.6M, M.=1.4M, 1
5.36 0.15 ,15
7Ma+5Mb+3MC:@x 15 2 )
0.15
4 2My+5My+4 . 2M,=536
‘M,;=40 M,=24 M.=56 (1, 3)
[ 2] A B C 3x 5x 7x, 5.36
A7y BS5y C3y
17y- 3x+5y- 5x+3y- 7x=5.36 ( 2 )
17y +5y +3y =015 !
ix=8
i ( x=81 )
1y =0.01
A B C 24 40 56. (1 , 3
: 7 - 3 7
3, 6 .
2. E , X,
0.37 _0.20x 25.0 « =74 1
X 1000
45,74-45=29 1
E CH,CH,COOH 1
D,D , .
D 1
D CH,CH,CHO 1

 CHaCH,CHO+40,, — 3C0,+3H,0

.DE )
) ) 3 . ,
5 .
( 10 , )
1.JCo(NH;)sCI]CI, (€]
+3 (1
2.CH;COONa+HCI=CH;COOH+NaCl
CH3CO0H = CH3COO-+H* @
1.00 0.50x 20

o o/



Xy
X2

=18x 10 ° 1)
0.50
x=3x 10-3(M) a )
2
Y _-18x10 ° (1)
0.22

y=2x 10-3(M) @ )



1988

H 1 He 4 C 12 N 14 0 16
Ne 20 Na 23 Mg24 Al27 P 31
Cl 355 Ar 40 K 39 Ca40 Mn 55
Cu 64 Zn 65 Ag 108 Cd 112
1g2=0.301 Ig 3=0.477 1g5=0.699
( 1 , 30 )
B C D) )
1.
A ®) © ®)
2-Il n
A) ,
®)
©
)
3.
(A)0.4 (B) 5.6
(©4 5.4 (D)10
4.
(A)2:1 (B)3:1 (©)1:3 (D)1:1
5.n N, n 14C0o ,
A) ®)
© ®)
6. , ,
)] 16:11 (B) 11:16
© 1:1 (D) 11:16

Fe 56

(A



(A)CH, (B)C,H:OH
(C)CH,CHO (D)CHSCOOH
8.M Y
Z,
(A)Z (B)Z
(©)2 OWM  +2
0. 5s25pl,
A)
(B)
©
(D) +5
10. C H O 8.80
H,010.8
(A)CsHgO (B)CsHy,
(C)CsH150, (D)CsH,,0
11.1 142 .9

(A)2H,( )+0,( )=2H,0( )+142.9
(B)2H,( )+0,( )=2H,0( )+571.6
(C)2H,+0,=2H,0+571.6

(D)2H,( )+0,( )=2H,0( )-571.6

12. , -
A ()
© ®)
13. )
-(2)
-(4)
-(3)
A ®G @
©@w 6 )
14.

A

M,Y

£0,22.0

(D
.(3)



(®)
©
)

15.

(A)AGNO;
(C)NaOH

16. a b c d
. ab
c ;b d b
(A)a>b>c>d
(C)c>a>b>d

17.
BaCl,
(A)CaCl,
(C)H,S0,

18.
(A (®
19.

CSHQBF

(B)H,S0,
(D)NaCl
;¢ d c a C

(B)a>c>d>b
(D)b>d>c>a

IM Na,SO; Na,S0, Na,COs Na,S

(B)AGNO,
(D)NaOH

© (®)

H, H,
()(CRCH, (B)(CE (c}éLCHG r:mé

CH,
CHa, ~CH;
mTﬂiﬁsﬁE—ﬁ%ﬁTﬁEM%ﬁﬁéﬁT C=C T
g \CHgﬂ
HI&

® ®)2-  -1.3-

© ®2- -2
21.

(AYnCH,=CHC1 — =9, - CH,=CHC1 +

ELAE. R

(B) ©—0Na+CO; +tHO— S—0OH+NaHOO,



(C)CH,CH ,Br +H,0 %"%%® CH,CH,OH +HBr
(D)CH,COONa+ CO, + H,0—- CH_,COOH + NaHCO,

22. 50 1.17 0.84
AgNO, 2.87
A
(B)
©
(®)
23.
(A (B)
© (D)
24. ,
( ),
(A)1:2 (B)1:3 (©)3:2 (D)1:1
25.0.1 1 0.1MNaOH
pH
Q) C)
© (®)
26. , HoS S0, pH
S0,
pH pH pH pH
SO AR SO AR SO:HIPRAR SO RPN
(&) () )
27.
(MINO (B)N,0; (ONO,  (D)NO5
28. )
pH 4.
(A (B®)
© (®)
29. X



A (B)

©) ®)

30. , 2HBr( )—H,( )+Br, ( )-Q
(A) ’ ®)
© )

1. Np , - 0.3M
(A1 0.3Np
(B)1 0.9N,
(©)2 1.2M
(D)2 0.6N,
2. ’
(A)CH,0 (B)C,HCI,
(O)CH.CI, (D)CH,0,
3. m n
2(m-n) 24n m-n n
A 3n B) m-n © 8n () 24(m- n)
4 4
(A)22.4 (B)11.2
(C)44.8 (D)89.6
3
5
(M)2:3 (B)3:2
©)3:5 (D)5:3
6. pH 8  NaOH pH 10  NaOH
(A) %(10‘8 +10™)M (B)(10°® +10™)M
(C)(1x 10-14-5x 10-5)M (D)2x 10-10M

7. 0.1M




(A)3:2:1 (B)1:2:3 (©)3:1:1 (D)1:3:3

8. , 2 A 1 B,
2AC )+B( )==3C( )+D( ) ,C W /

W /
(A4 A+2 B
(B)2 A+1 B+3 C+1 D
©3 C+1 D+1 B
(D)3 C+1 D

9.
(A)H* Cu2* (B)H,0 ,
(©)co, O)1 N Br ~
10. , Ay )By( )T—2AB( )
(A) n A, n AB
®)
© 2n AB n B,
(D) n A2 n BZ’
11.99 0.1M 101 0.05M
pH
(AD1.7 (B)10.7 (©11 (D)11.3
12.W  10%
w
(A) 0
wW
(B) >
©
(D) 20 25%
13.20 M 40 0.5M
(Ac )
(A [Na*]>[Ac"]>[OH "]>[H*]
(®Na] [AcT] [AcT]>[OH]>[H']
(©Na*1>[0H "1>[AcT]>[H']
(O [Na*]1>[0H "1>[H*]>[AcT]
14.
(A) Fe+6H=2F3++3H,1
(B Ca(HCO3),+2H*=Ca?*+2H,0+2C0,1
© CH3COOH+0H-=CH,5C00-+H,0

(D) MgCO4+2H*=Mg2*+H,0+CO, 1



15.

(A)K* HCO; CO? Br
(B)CO? HCO, OH K"
(C)Fe* Cu* NO; SO%
(DH" C° Na" SO%

( 20 )
1 X nshnpn+l. _
s . X ;
7 ’ H+
2.X Y Z :
€h) 20 Y Z
) XY, YZ, XZ
(3)X Z
(4)XY, , ,
Y Yo, A.
X Y L A
XYs ;
3, A CcHyCl, , CH,

~CHg. G H- - CLE T 4 4540 FU I 8 Sk D

-( ; 0 )
@ ) ®) 4)
4. , {—CH, ﬁ’%”r { %—COOoH
—oc—{—coocH.CH0+
(@) :
@) :
( )
5. :
@ :

O P+0 CuSO, +00 H,0=0 Cu+0 H,PO, +0 H,SO,

@) , :
0 P+0 CuSO, +0 H,0=0 Cu,P+0 H,PO, +0 H,SO,
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4. ,
5 B B ,
6. :
7. C
8.
9. 100 0.20M :
1.49 , 30
, ; 100
; , 2—3
( 12 )
1.
0.10 , ) )
, 4.04
; 672 ( )-
2. ADEG AXDy(E,G,) 2 -
(Dx vy z ,  Xty+z=7.
(2 8.74 , ; E G
EG,2.688 ( ),
1.965 / ,EG,
(©)) ,A D .
, D 0.56
4) D 12._8%.

E G D A , X Yy



z ’ '(
-)
(D) E G
E ;G
2 X'y z D
X= y= z= ;D
(€)) A
A ;
1988
( 1, 30 )
1.D 2.B 3.C 4.D 5A D
6.A D 7.A B 8B C 9.D 10.D
11.B 12.A D 13.D 14_A 15B C
16.B 17.C 18.A 19.A C 20.B
21.A D 22.D 23.B C 24.D 25.D
26.A 27.D 28.C 29.A C 30.B C
( 2 , 30 )
1.A C 2.C 3.B 4.C 5.A
6.D 7.D 8.D 9B D 10.C
11.C 12.B D 13.A 14.A B 15.A C
( 20 )
2p( np )
C N
H::H( H:N:H NH )
H H
0.5
2. X _( Ca)
Y (0O
Zz (9 A (_ CaC03)
-CaC,+2H,0=Ca(0H) ,#CoHy1 ( 1, 5

X Y zZ caC, CS, CaS

s )



3.(1)CH,- CH-CH,-CH, -CH,

Cl
(2)CH, - CH, c|: H-CH, - CH,

Cl
(3)CH, - ClH -CH, -CH, -Cl

CH,
(4)CH,-CH, - ClH -CH, -Cl

CH,
( 0.5 , 2 )
4 7 O 7
4 4 , 1 0.5 ,
4.(1) :
HOOC—{ y—COOH HO-CH:-CH:-OH EFE 05414
( ) ) )
2 Cl, NaOH:
2NaCl + 2H,0——=2NaOH +H,t +Cl,1 1)
( 1, 1 )
:CH, =CH, +Cl, % % ¥%® CH,— CH
S (o< Y R
cl cl
a
( ccl, )
(lez— (|3H2+2NaDHW CH,- CH, +2NaCl
aa CH OH
o) (lez—(|3H2+2H20WcH2—CH2+2HCI
a o« b dm
aa
CHG—@—CHGﬁL—fU} HOOC—{_%—COOH
( , ) @ )
5. (1) ZIP+[Z1Cus0,+=1H,0 =[5] Cu+ [ZIH,PO,+[Z1H,S0, @ )
(2) [P+ [EICus0,+ 24H,0 =Z]1Cu,P+[E1H,P0, +[EH, S0,
@ )

¢ 8 )



2. ) ( 05 , 1)
3. (__K;C03)
; (
Kgc_oi 2
( 05 , 1)
4. ( ) )
( ) ( 05 , 1)
5. (__HCD K,C04 ( 05 , 1)
6. (__AgNO;_ )

- ( 05 , 1)
7. (__CaC0y) 0.5 )
Ly Mcacl,

il S
MCaCO,
8.KCl CaCl, MCaCl_ 1)
> MCaCO,

L w-w, MCaCl, W, MCaCl, WMCaCO, , 100W
MCaCO, MCaCO, 'W,MCaCl, 111w,

’ W]_ ’ ]
9. ( )
(2030 ) 7
3 -( 2 )
( 05 , 1)
( , 0.5 . -)
( 12 )
B KC104 X
MnO,
2K CIO, 2KCl +30,1 (05 )
2x 1225 2x 745 3x 22.4
X 0.672
_ 2x 122.5x 0.672 1)
3x 22.4
=245 ) (05 )
KCI04 y
4.04 KCl :4.04-0.10-2.45=1.49( )
2x 122.5x 1.49
= )
2x 745
=245 ) (05 )

KC10,



245

[ 06 = 0,
2.45+2.45>< 100% =50% (05 )
[ 2]
MnO,
2KCIO, 2KCl +30,1 (05 )
0.672
o, .ﬂ_o.oso( ) (0.5)
KCIO, :%x 0.030=0.020( ) (0.5)
KC10,4 :0.020x 122.5=2.45( ) 0.5 )
KCI0; ™ " KC1 ™
4.04-0.10-2.45
)
74.5
=0.020( ) 05 )
KCIO3 -
0.020
- 0 = 0
0.020+ 0020 * 100%=50% 05°)
(1 4 )
2. (1)EG, :1.965x% 22.4=44( / )
EG, 44, , EG,
CO, 0.5 )
E (0,6 0 ( 0.5 , 1 )
2.688
2 " "——— =012 )
(2)c0, g =010 ) (05)
0.12
8.74 (C,0,) " ":T=O.06( ) (0.5)
D , ,Fe Fe2+. Fe
0.56
—— =001 0.5
=5 =001 ) (05 )
0.01 Fe 0.02 , D ,
1L 1. D " "
0.01x 2=0.02( ) 0.5 )
D (C,00) ™ " 0.02:0.06, y:z=1:3
X+y+z=7 Xy z ,
x=3,y=1, z=3
( : . D 2, D "
" " " , 0.01

,y:z=1:6, Xx+y+z=7, y=1 z=6 x=0 . D



2, ).

( , )
8.74x 12.8%
D o - (05 )
x=3 y=1 z=3; D (__Fe) ( 0.5 , 2 )
(3) x=z=3,8.74 A (C0) " " 0.06
,Fe 0.02 0.5 )
8.74-56x 0.02=44x 2x 0.06
A = 306 =39 (05 )
A ( K) K ,Fe(C,0,),
( 0.5 , 1 )
( 2 8 )
( ’ })



1989

H 1 Hed4 C 12 N 14 0 16 Na 23
Mg 24 Al27 P 31 S 32 CI 35.5 Ar 40
Cu63.5 Ag 108

(A B C D)
( 1 12 )
1. ,
)] ® © ()
2. ,
»
®
©
®
3.
(AH, (B)NO (C)CH, (D)CsHg
4. 5 : H, N0, SO, CO, H,S,
» (B)
© ®
5.
(A)AgNO4 (B)Ba’CIZ (C)NaOH (D)NH3- H,0
6.
Q) ® © ®
7. [CI"] 50 1/ [C17]
(A)150 1 / (B)75 2 /
(C)150 3 / (D)75 1 /
8.X Y X
Y 2 Y ,Z
Y XY Z
(A)X>Y>Z (B)Y>X>Z (O)Z>X>Y (D)Z>Y>X

9. OH



(AF (B)CI (C)NH, (D)NH,

10.90 Ky=3.8x 10-13, pH
GV ® 7 © 7 ®

11.
Q)
(®
©

)
12.
Q) Cs—Cyq
(B) Cyg
©
®

13.
G
(®
©
®

14_pH

®» ®)
© o)

15. 100 0.1 /

A 1/

(B) 1/

(©) 100 D)
16.

2H,( )+0,( )=2H,0( )+571.6

CaHg( )+50,( )=3C0,( )+4H,0( )+2220.0
5

(A)l:é (B)3:1 (©)1:4 (D)1:1
17.99 0.5 / 101 /

pH
(A)0.4 (B)2 (©12 (D)13.6

pH

3847



18.

0.5 22.4 4 9 0.2
(A) (8)
© ©)
19.

(A)NH: AI*,SOZ ,NO;
(B)K*,Na*,AlO;,NO;

(CK*,NH,MnO;,S0%
(D)Na*,K*,NO; ,HSO;

20. X2 5s2. xcl,

,(A)X 2+
(B)X(OH),
(©)XCl,

(D)X

21.

(A) . .
(B)

©
(D)500

22. ,
-+
— Fi Sane ZnMFe Cufrlhlf"e

| |
L'y
(LN
i D
G
Ll
(ann
MK
(T
h 11
—
LN
(R
IU,
||.
L N -
I —
LK
(mn
I
L
.

1 2 3 4
(A)4>2>1>3 (B)2>1>3>4
(©)4>2>3>1 (D)3>2>4>1

23.



(A) ; Na+2H,0=Na" +20H +H,1
(B) : COZ +2H" =CO,t +H,0
(©) : OH +H*=H,O

(D) :
2H,PO;, +3Ba** +40H" = Ba,(PO,),! +4H,0

24. 1:1C ) ) .

(&) CH,—CH—~CH—CH, +,
Ca,
(E) + CH,—CH,—CHz (le }n
CH,
()4 CH,—CH,—CH=CH—CH, +,
(D) +CH,—CH,—CH—CH—CH, 4,

25.
(A)CH,CH,OH — #8845 .oy = CH, +H,O
(BYCH,CH, Br + CH,CH,COH +NaCOH —— CH, CH,OCH, CH,

+IaBr +H,O
(YCH, = CHCH=CH, +Br, —
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( 3 , 17 )
32.(4 ) : 6
( )
NO,
H,50,
(4) +I—]1~IDSM*+HQD
(B) CHSCHECHgtlecm%CHSCHE CH = CHCH,+ H.O
oH

(C) 2CH,CH,0HP3% o o, OCH.CH,+ H20
140 ?



@) (CH,), CHCH —CH,+H —= (CH, ), CHCHCH,+ (CHSJECHCHE?HE

(E) CH,COCH + CH,OH

F RCOO- CH+3H,0

ECOC—-CH:

RCOO— CH,
(AR ETERECH,(CH, ), CH,—)

#H,50,
1407

Hy50,

i\

%) |
CH,COOCH, + H,0

b

(le —OH

FRCOOH + (le —iOH

CH,—OH

I

33.(6 ,
|
—C—OH — —C=0+H,0
g H,OH (@)
@ @
]
21 HoL FREE HO
D (= @
@
@ iR & Ha 0O, ¥ @
€y A
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A ,
e
34.(7 )AB ,1mol A 1molB  1mol A
B 200, C0, H,0. B
65.2%( 0.625).A
, FeCl;
(DA
(2)1
(3A
(4)B
gyl



B | TFEA

( 2, 18 )
35.(6 ) 8.8¢FeS 200 mL 2.0 mol- L-1 , H,S
H,S 0.10 mol. L-1,
(€)) H,S ( )-
1) Fe2r  Ht ).
&
36.(12 )1996 Cog Ceq
C )
Ceo
Ceo
]ﬁﬁﬁﬁﬂﬁﬁﬁﬁﬁﬁﬂﬁ=ﬂ
, Ceo 12 20
30.
(¢H) Ceo
@) Ceo F2 CeoFeo( “
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(€)) ) Ceo
Ceo
(4)Cy Ceo
Czo
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2. ,
3. ,
-( 5 , 3 , 15 )
1.B 2.D 3.A 4.C 5.C
-( 15 , 3 , 45 )
6.C D 7.A D 8.B 9.A C 10.A C
11.D 12.B D 13.A 14.B 15.B C
16.A B 17.C 18.D 19.C 20.B D
-( 6 , 4 , 24 )
21.B 22.C 23.A 24.C 25.D 26.A
( 2 , 14 )
27.(4 )
A B C (1 1, 2 3, 4 , 1
)
28.(10 )
(€H) CH4CH,OH % %#® CH, CH,1 +H,0
CH,=CH,+Br, — CH,BrCH,Br ( 1,
)
(2)b : . : 2
)
®3) i Co, SO0,. (2
)
4)
( )
, 170 (
)
( 2 , 4
-( 3 , 17 )
29,054
(1) 2H30, +Ba® +20H =2H,0+BaS0, § +50]
=, JH* +50% +Ba® +20H =2H,0+Bas0, |
EEF, H*+Ba’ +50%¥ +0H =H,0+BasSC, }
TegaT

(2) Ba* +50% =Bas0, |
4 4

30.(5 )
(1) Cu2*+Fe====Cu+Fe2* 2H*+Fe Fe2*+H,1 ( 1, 2
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( 3, 17 )
32.(4 )A C E F @ )
( 1, 1 2, )
33.(6 )
mFF ()-CH ¥ (B9, 250

(@ (oot FHEFHE (SFFETER(E=10, E2n)

3 @—CH;CI +@7CDDNﬂﬁ@’CDDCHﬂ‘@+NaC1 (29
34.(7 )
M4z @ ) @3 @ ) (®)CHg0, ()
OH
(4) @igélm @—CDDH HD@—CDOH (&1, 330
im0 SCH,COOH+B Bl 4, BZ[AEH 428 4 FEFE

200-42=158.A ) ,B . A( )
, 3 . B
( ). B
16x 3
B M, = 31.8% =138 <158,
,B
-( 2 , 18 )
35.(6 ) FeS+2H*====Fe2*+H,S 1 ,
FeS
n(FeS) = __883 _ 0.01 mol
88g- mol™
(¢D) H,S 0.10mol. :
0.10 mol- L-1x 0.20 L=0.020 mol
H,S :0.10 mol-0.020 mol=0.08 mol
HoS ( ) -
22.4 L- mol-1x 0.08 mol=1.8 L (¢
)
~ 0.10mol

2 Fe®* 0.10 mol,

— L1t
0.20L =050mol- L 2 )

H*0.20 mol, H* :
2.0 mol- L-1x 0.20 L=0.40 mol



_~ 0.40mol - 0.20mol _

+ -1
H 0.20L 1.0 mol- L
36.(12 )
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Ceo
)
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@
Ceo 30 F,
CeoFs0
)
( "Ceo 30 Ceo
(3) Ceo :%(SX 60) = 90
( ):60+(12+20)-2=90
Ceo :90-30=60
)
( “ 2x30( )=60"
4) Gy X, y.-
i1 (5x +6y) = 1(3>< 70) ( )
? 2 2
%70+(x+y)-%(3>< 70) =2 ( )

x=12,
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120 100
H1; C12; N14; 016; Na23; Mg24;
A127; S32; CI35.5; K39; Feb6; Zn65
5 3 15
1 1998
OH
H
A CHCH B CH50H
C CH;COOCH,CHg D CH;COOH
2
A Na,SiOy B BaCl, C FeCl;
3
A H,
B HCI
C S0,
D CO,
4
A N, H, NH,
B NO O, NO,
C NHg NO
D NH,
5 300mL NaOH 609
A1l 4 B 1 5 c 21 D
12 3 36
1
3 0
6 ICI
A HI  HCIO B HCI HIO
C HCIO; HIO D HCIO HIO
7X Y X
X X Y
A XY B XY, C XY D X,Y3
8 4NH, 4NO 6H,0 2L
1 NH; 0.12mol

A NO:0.001molL!

B H20:0.002molL"?!

D NaAlO,

1mol L ~INaOH



C NH3:0.002molL"?! D 02:0.00125molL"1

9 0.1mol L-1
A [OH"]/[NH3H,0] B [NH3H,0]/[0H]
C [H] [OH] D OH
10
A
B
c
D H, 0,
11 MOH HA
A [MI>[OHT>[AT>[H] B [WI>[A]>[H']>[0H7]
C [WI>[AT>[OH 1>[H] D [M]+[H"]=[A"]+[OH]
12 8
A cocl, B
9 D
13
A
B
c
D
14
A B 9 D
15 10mL0.60mol L ~*NaOH 20mL0-50moll
L~1H,S0, 30mL0.40mol L ~HCI 40mL0.30moll L ~1HAC
50mL0.20mol L1
A > > > > B > > > >
c > > > > D > > > >
16
A
B
9
D
17
A
Ca?*+2C107+H,0+C0,==CaC0;. +2HCIO
B
Fe2*+2H,0,+4H"==Fe3*+4H,0
9
NH3H,0+50,==NH**+HS03-
D

Fe3*+3NHgH,0==Fe(OH)5! +3NH**



18 pH=13 pH=2 pH=11
A 11 1 B 9 1 c 1 11 D 1 9
19 S0,
0, 250,40, 2S04
S0,
p% S02
A p% B p
C p D
20 10g
22.2L
A B C D
21 aLHCI 1000g
bgem-3
A a/22.4molL"1 B ab/22400molL™!
C ab/(22400+36.5a)mol L1 D
1000ab/ (22400+36.5a)mol L1
22 0.052(5.2 ) NaOH 1L 1.06g cm™
3 NaOH 0.010(1.0 )
NaOH o] /g
A 0.062(6.2%) 19 152
B 0.062(6.2%) 152 19
C 0.042(4.2%) 1.2 9.4
D 0.042(4.2%) 94 1.2
23 3L R 5L Q
2R 5Q 4X ny
87.5 n
A 2 B 3 C 4 D 5
24 1 2 3 3
2

¢ REL, FRABEET.
C, HIR - &1 o &

I

1 2 3 45



25
OH
HD—@—CH=CHQ
CH
1mol Br2 H2
A 1mol,1mol B 3.5mol,7mol
C 3.5mol,6mol D 6mol,7mol
2 17
26 6 A D
1
A C

2 D D
27 11
800mL 100mL
1.19gcm-3
100mL
1
2
3 17

28 42




KMNnO4+HBr - Br,+MnBr,+KB4+H,0

0.1mol
mol
29 6
(&)
Brigam + @ + (1)
© R R ® - @
=
iy @ < ®
o= SiFE ||
EeWm 4.1.13202 J
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2 BGO
3 BGO _
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i (1) O— RAZE O CH— {b RURIEE —CH H\‘.:HZ
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32

6 3
gH
@ HpS0p 905 (% {HGRED @’ 3 @,mz Fe, HL, Hy0 @/“HE
& - -

CH, 85, B, BEL
22 aa >
e -
A DSD
() ——= (B) ———==(C)— () —-HzN—Q CH=CH @mz
W05H  HDLS
DaD &
A B C D
33 6 ABS CH2 CHCN A
13 CH2 CHCH CH2 B & - =,
S
1 AB S C H
2 ABS CaHbNc a b ¢
A B _ a b c
2 15
¥ 7 H,0 18.0 Ca0 56.0 Ca0,
72.0
Ca0
0.270g Ca0 0, H,0
0, 33.6mL
0.120g H,0,
Ca?* caC,0,

0.0200mol L~1KMnO,
31.0mL KMnO,
5CaC,0,+2KMn0,+8H,S0,==K,S0,+2MnS0,+5CaS0,+10C0, 1 +8H,0

1 Ca0,
2 Ca0,
3 Ca0, xH,0 x

3B 8 9/100gH,0



NaNOJ KNO, | NaCl | Kdl
10 | 805] 209 | 357 | 310
100 | 175 | 246 | 39.1 | 56.6

1 23.4gNaCl  40.4gKNO;  70.0gH,0

50.0gH,0
m
2 34.0gNaNO;  29.8gKCI
L 100 10
.
1998

1B 2D 3C 4A 5A

6B 7A 8AD 9B  10AC
11CD 12A 13BC 14BC 15D

16CD 17D

18D 19B 20C 21D
22B 23A  24A 25D

26 (1) A: B: C:

€

27 1
800mL
100mL

100mL

10

100



28
29

30

31

32

33

HBr; 0.5
1 NHHCO,; NHy; O,
2 C+4HNO, 2H,0+4NO,t +CO,1
1 Ge; Bi
2 Bi,Ge,0;, 2Bi0; 36e0, Bi,(Ge0,),
3 Bi,0,
1 Cy3Hz9NO,
2
(O c=a<>
3
H\H CH,~000H
( <C:::>%E am, <D éﬂf{rmH

CHg
(L) @/ ®) w1,
() CHs‘QI'DZ

Hs3
(D3 OEH—%C::ET—CH==CH—4§ H—10,
0.H  H)sS
1 1 3 B

2 c:(b-a/2) 2c:(b-a)



34 1 20a0, 2Ca0+0,

2 w(Ca0,)=(33.6x 10-3L/22.4- mol-1)x 2x
72.0g- mol-1/0.272gx 100%=80%

3 n(CaC,0,)=n(Ca?*)=31.0x 10-3Lx 0.0200mol- L-
1x 5/2=0.00155mol

Cao, n(Ca?*)=0.120gx 80.0%/72.0g- mol-!
=0.00133mol/m(Ca0)

=(0.00155mol-0.00133mol)x

56.0g- mol-!
=0.012gm(H,0)
=0.120g-0.120gx 80.0%-
0.012g
=0.012g
(0.120gx 80.0%/72.0g- mol-1)
2(0.012g/18.0g- mol-1)
=2:1
x=1/2
35 1 100 50.0gH20 NaCl

39.1gx (70.09-50.09)/100g=7.82g
NaCl m =23.49-7.829=15.6¢g
10
m
10 NaCl
(39.1g-35.7g)x (70.0g-50.0g)/100g=0.68g

KNO, 20.9gx (70.79-50.0g)/100g
=4.18g

KNO, 40.49-4.18g¢=36.2g

10 m =0.689+36.20=36.9¢



m

15.6g m"

m

36.9g
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4 Il 5 10 150 120]
I 83

1. I

2.

3.

HI Cl2 N14 016 Na23 Mg 24
5 3 15

1.

A. B.

C. D.
2.Murad NO

) 1998
NO

A.NO N

B.NO

C.NO N

D.NO
3. 77 (Ir
191771r,

A.77  B.114  C.191  D.268
4. 191 193

192.22

A.39 61 B.61 39 c.1 1 D.39 11
5.
A.  NaHCO; CO,
B. Cu HNO, NO —
C.  NH4CI NaOH a
NH, .
D. NaCl H250, HCI N -

12 3 36




O O W >

>

O O W >

o O W >

10.

11.

O O W >

12.

A
13x

A
14.

3 0
8
.BeCl,  B.PCl;  C.PCl;  D.N,
N
.28g N
.49 0.1N
. Imol N
22.4L
HCO4™+H*=H,0+C0,
Ca(0H),+2H*=Ca?*+2H,0
NH; . H,0+H*=NH, *+H,0
CaC05+2H*=Ca?*+H,0+C0,
4NH, 50, = 4N0 6H30
0.45mol,
Tx(
- ¥ (NH3)=0.0101mol L1572
. ¥(0,)=0.0010mol .L"1.51
. ¥(N0)=0.0010mol .L"1.s71
. Y(H,0)=0.045m0l .L1.s71
1A 1A
IA A
0 Oimol.L™! pH
I
—ﬂg-ﬁjH OH
_HCOF  B.CCl, C.CcOCl,  D.CH,CICOOH
y z ,
XYZ  B.X,YZ  C.XYZ,  D.X,YZg

10L



hieg
(/2)H,+Ni0 OH 7% Ni OH ,

A. OH
B.
C.
D. H,
15.
A.Na"  Ba?" CI- SO,%
B.K*  AIO?- NO®-  OH"
C.H*  NH¥* AI¥* 50,2
D.H*  CI=  CHgC00~  NO%-
16.
A.
B.
C.
D.
17.
A. CHy—CH—CN B. CHy—CH—CH=CH,
C. CH=(H, D. CH2=(|}—GH'=-'=CH1
CHs
8 4 32
)
18. 0.1mol.L™1 NaOH 0.Imol.L™1
1 NaOH ¢! 0 05mL
50mL, pH
A.4 B.7.2 C.10 D.11.3
19.X Y Z a molX b molY
X 2y 27 n X
n Y =n Z Y
A.[(a+b)/5]x 100% B.[2(a+b)/5b]x 100%
C.[2(atb)/5 ]x 100% D.[(atb)/5a]x 100%
20. 25% 0.91g.cm-3,5% 0.98g- cm”

A. 15% B. 15% C. 15 D.



21. A
5
X(X=A B C n(X
02 n(02).A B 4 :
C A B C  n(A):n(B) sl A R
A.2:1 B.1:2 I s e il HsRt gl
C.1:1 D. e i A el
1 F e e Hi R
O : prioiaze
i A R e BT -
] 1 2 3 4 a{¥X)md
22- “ ”
2FeCl;+Cu  2FeCl,+CuCl,
A.
C.
23. NH,NO3——
HNOg+N,+N,0
A.5:3 B.5:4 C.1:1 D.3:5
24. M NO3)x ag
bL M
A.22_.4ax/b B11.2ax/b C.5.6ax/b D.2.5ax/b
25.A B C D A B C
B C DD C M X X
A-M(A)=M(B)+M(C) B.2W D =M B)+M(C)
C.M B)<M(D M C) DM D M B)M C)
1 ( 67
11 6
. 2 18
26(4
A BB C 1L, Al — —
4 mL — & i
2 1 50mL o —
Fd — .
a el i
L ||
A. amL B. 50-a)mL
C. amL D.
50-a)mL
27. 14 co,
NaOH
co, | co,



il

bL,

¢! 1
@) A B COD
A. E CaCl,
B. caCl,
C. E F caCl,
D.
G
4
I ag,
Co, )
G
( 2 17

28.(8



LARIN S | s nadl
a9 I B 414
F—E# ' WAZES W G
#F mhe
Bk 0 B NaOH it
n D . >
I B KEND[ g (RAI L, | WAL
L, R i F ik 10 NHs - HD
1||f L 3 |r
€y F
¢ E G
€ 1
(4 CEF
29 9 H2A)
HoAe=—=H++HAHA-=—=H*+A%" a(H,A
>d(HA-
A. 0.01mol.L1  H,A
B.0.01mol.L!  NaH,
C.0 Oimol.Ll HCI  0.04mol.L™1  NAHA
D.0.02mol.L1  NaOH 0 02 mol.L"1 NaHA
)
(DHT]
(2 [HA]
) [A*]
( 2 17
30.(7 C47H51NO, 4
A B

A: G;HS"-?H“NH?‘“CU—C& Hs

B:

HO—CH—COOH (CiH,— BAER)

a1 A

31.

@ A

G ROH

10

R—0H (REZ—1% C.H.ONEH)




| o(H . [ T ——
e #M N ﬁﬁ:——&—&—-, —— N &Eﬁmf——ﬁ=ﬁ—

3% NaOH @ By (P WNaOH @ EEH,
®m’ C o B Twmma s ¢ wER T Gl

D @ ®
¥ NaOH B3 400 °C # NaOH 353
JAN T
B@zm,amﬁbn . Qzm.ZBR
¢! C 6 H
C G H
¢
-( 2 15
32.(6
0.470g
0 486 g
¢!
¢
3309 )
[€)) NaCl
NiO NaQ Ni2* 02"
a10-8cm NiO NiO
74.7g.mol"1).

Ni2* Ni3*
Ni 0

Ni0970, Nist  Ni2t

Q
NiO 1‘E'r NE*
NiZ*
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1 C 2 D 3 B 4 A 5 B

12 3 36
6 A 7 B D 8 C D 9 A C 10 C
11 B 12 A C 13 A 14 C D 15 B
8 1 32

18 C 19 B 20 C 21 A 22 B
20 A 21 C 22 D

2 18
26 4
3.2 2
2 D 2 0
27 14
1 co, 2
2 D 2
3 Co,
3

3
4 [(ag/44g- mol-1)x 22.4L- mol-1] [bL+(ag/44g.mol-1x
22.4L- mol™1)]
(22.4L- mol-1x ag)/(bLx 44g- mol-l+agx 22.4Lmol-1)x
(5.6a/11b+5.6a)x (5.6a/11lb+5.6a)x 100% 3

5 1 NaOH 1 NaOH
2 4
2 17
28 8
1 H,
2 AFe?*+8NH;- H,0+0,+2H,0=4Fe(OH)5t +8NH**
Fe2*+2NHy - H,0=Fe(OH), ! +2NHA

4Fe(OH),+0,+2H,0=4Fe(OH) 4
QAP Nat

(4)H,S04(  HNO3) 2 8
29 9
1 AD 2 3
2 CD 3
3 DA 3
30 7
1

Hl'
Cﬁﬂg—ﬁlH—NH—CU—Cﬁﬂﬁ + H,0—> C.GHﬁ_'CI'I_NHZ + (eHs COOH
HD—CH—-%UOH HO—CH—CO0H
NH, NH 2

2 a 2
3 C3pHze017 3



31 10 3

1
L|J—CDCH3
ﬂ: C6H5_CH=CH1 G C6H5 —(=CH H: CﬁHg_CH_CHfJCGCHg
2 6
2 1 4 | 1
2 15
32 6
1 MggNy+6H,0=2NHy1 +3Mg(OH), (L
2 MgsN, X MgsN, MgO
r
MgsN, — 3Mg0
100 120
X y
y=120x/100 2
(0.470g-x)+(120x/100)=0.486g 1
x=0.080g 1
0.080/0.4709=17% 1
0.486 g~ 0.470 ¢ ___m (MgN,)
3 mol x40 grmol ™! — 1 mol x 100 grmol ™'~ | mal x 100 g mal '
3
mMgsN,=0.080g 1
0.0809/0.4709=17% 1
3.9 )
1 1cmd (1.00cm/ax 10-8cm)3(2
lem®  Ni?*-0," (1.00cm/ax 1078cm)3x 172 1

ax 1078cm3/2x 6.02x 10%3mol-1 2
6.02x 1023mol-1 NA

[(1.00cm/a x 1078cm)3 x 74.7g - mol-1]/2 x NA
(62.0/a3)g cm3
2 1mol Ni0.970 Nig+x mol, Ni%*(0.97-x)mol

3x mol + 2(0.97-x)mol=2x 1mol 2
x=0.06 1
NiZ*  (0.97-x)mol=0.91
Ni®*:Ni2*=0.06:0.91=6:91 1
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